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1. fAeg A5 fasdte qift i@ 2@ :8-93 3@

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_U6RZiWyqQJZs

2. fAteg qifxIfoq fasidie qifx i 3@ :25

o Watch Video Solution

3. fAeg e fddie Qi & 3@ @10 fabia
I

o Watch Video Solution

4. fAreg gt fAddie aift fd 2@ : 30


https://dl.doubtnut.com/l/_U6RZiWyqQJZs
https://dl.doubtnut.com/l/_Ob0nAjIBwmju
https://dl.doubtnut.com/l/_5IVc6BwGNpUS
https://dl.doubtnut.com/l/_ROxekUrcWTCg

° Watch Video Solution

5. {463 qifif5a fde I 1 2@ ST Q@

7 KM 3414l

o Watch Video Solution

6. fAtog o faqte it fF 2@ 400 Biet

il

° Watch Video Solution



https://dl.doubtnut.com/l/_ROxekUrcWTCg
https://dl.doubtnut.com/l/_r7eBnwcTTfiZ
https://dl.doubtnut.com/l/_MVZdzGmphj9N
https://dl.doubtnut.com/l/_vvxCcenqpreX

7. fAteg qifxifog fadte qift S 2@ 100 BiG! St

° Watch Video Solution

8. fAtea qifxifog fAadte 9 S 2@ : 3 @fS 8T
Il

o Watch Video Solution

9. (15T BTl : (-400)+(65)

o Watch Video Solution



https://dl.doubtnut.com/l/_vvxCcenqpreX
https://dl.doubtnut.com/l/_kGvCkldvQSFG
https://dl.doubtnut.com/l/_I6llb2CgNr9b

10. (151 BTl : (525)+(-55)

o Watch Video Solution

1. (ISF ST : (-495)+(-50)

o Watch Video Solution

12. fATSd IS Bt QR <5 B Tag s

o Watch Video Solution



https://dl.doubtnut.com/l/_I6llb2CgNr9b
https://dl.doubtnut.com/l/_oyIgvDqh95or
https://dl.doubtnut.com/l/_vbGEv2FTYrLv
https://dl.doubtnut.com/l/_8cQ7XlemYEvO

13. (15T BT : (-386)+(-81)

o Watch Video Solution

14. fAT6d TeUTIBT 999 TI7 @t : -25

o Watch Video Solution

15. fATHT UTBT 998 TR @t : +20

o Watch Video Solution



https://dl.doubtnut.com/l/_8cQ7XlemYEvO
https://dl.doubtnut.com/l/_NZes2914opJq
https://dl.doubtnut.com/l/_Zheran8rFO46
https://dl.doubtnut.com/l/_X6kiNN2FKN4H

16. fATHT 12LUTBT 998 TR @t : -50

o Watch Video Solution

17. A6 JTYUTIoT 999 17 (@t : -73

o Watch Video Solution

18. fATHT 1YUTIBT 998 T @t : +60

o Watch Video Solution



https://dl.doubtnut.com/l/_X6kiNN2FKN4H
https://dl.doubtnut.com/l/_2zUJ2IVRVOUH
https://dl.doubtnut.com/l/_el6sg7qOKBHe
https://dl.doubtnut.com/l/_dj0116WHp5LV

19. 5B IE < I > HEIPIS:-20 29

o Watch Video Solution

20.IBTIE < I > FoEPMS8:10 25

o Watch Video Solution

21.BIBIYE < A > B PN8: 0 _-10

o Watch Video Solution



https://dl.doubtnut.com/l/_dj0116WHp5LV
https://dl.doubtnut.com/l/_uGOLhd4SM4ST
https://dl.doubtnut.com/l/_bhzeZ8vNkbLw
https://dl.doubtnut.com/l/_Rtge2tUG5yJE

2. BIPIE < I > B PMS8:-200 0

o Watch Video Solution

23.BIPIE < I > B ds:12_-10

o Watch Video Solution

24.BIBIE < I > a8 -1 _-100

o Watch Video Solution



https://dl.doubtnut.com/l/_Rtge2tUG5yJE
https://dl.doubtnut.com/l/_3AedSpBzUiHQ
https://dl.doubtnut.com/l/_2isN5yuH1wYy
https://dl.doubtnut.com/l/_LAiuLYjxeHCs

25, 07 / THATT (10T : TG (RABT PRt 2t

0]

° Watch Video Solution

26. 507 / TT @ : 0 (A7) -a7 e 0 (¥AT

)

o Watch Video Solution



https://dl.doubtnut.com/l/_LAiuLYjxeHCs
https://dl.doubtnut.com/l/_ARpUHzpSOJFQ
https://dl.doubtnut.com/l/_AJguZYzM58SW

27. 507 / fAAT @A : 0 (9AY) TS HATard

FPIRLYUTI (AT TS|

° Watch Video Solution

28. 5767 / AT @t : @A MTIT 939 JiF

YT (ATH WX (ST ||

o Watch Video Solution

29,5707 / TIATT (@TYT : XY JTRUTT 7Y



https://dl.doubtnut.com/l/_prjmpqKSUSxq
https://dl.doubtnut.com/l/_rvdWtX5FOl5G
https://dl.doubtnut.com/l/_doNpWqypBIWO

o Watch Video Solution

30. o7 / O @t -10 U5 -6 a9 QAP

w1l

o Watch Video Solution

31. SIRYTITIYTT HATRATIT TSI Dl : (-3)+(7)

o Watch Video Solution



https://dl.doubtnut.com/l/_doNpWqypBIWO
https://dl.doubtnut.com/l/_ThQQQz7dpS1p
https://dl.doubtnut.com/l/_IcqXl19mc7t3

32. RYTITIYIT SRATIT (TSI BT : 8+(-8)

o Watch Video Solution

33. SRYTITIYIT SRATAT (AT BT 2 (-4)+(-7)

o Watch Video Solution

34, STRYTITIUTT HTATIT (15T DT : (-2)+(-8)

o Watch Video Solution



https://dl.doubtnut.com/l/_ajFv3Kx1sxAt
https://dl.doubtnut.com/l/_9Ie5XcXoLLS9
https://dl.doubtnut.com/l/_L46Cdd2Grfav

35. SIRYUTITIYTT SIRATTT (TSI ST : 3+(-2)

o Watch Video Solution

36. SRYUTITAUTT SRITAT (15T BT : 5+(-2)+(-6)

o Watch Video Solution

37. (15T B[l : (-9)+(16)

o Watch Video Solution



https://dl.doubtnut.com/l/_f360tK8JRZJj
https://dl.doubtnut.com/l/_J2LUKXoG78xx
https://dl.doubtnut.com/l/_fUzHj0Wxd45g

38. (15T Ll : 8+(-17)

o Watch Video Solution

39. (15T Sl : (-3)+(-9)

o Watch Video Solution

40. (15T BT : (12)+(-2)

o Watch Video Solution



https://dl.doubtnut.com/l/_6cd4e7y4Ma0g
https://dl.doubtnut.com/l/_kaXwKEPrllnO
https://dl.doubtnut.com/l/_H0VRY6iPmV9C

41. (15T BT : (-365)+(-87)

o Watch Video Solution

42, (151 1l : (73)+(-687)

o Watch Video Solution

43, (JI5I BTdl : (-493)+(289)

o Watch Video Solution



https://dl.doubtnut.com/l/_d522PsFKw25t
https://dl.doubtnut.com/l/_qxVaC5TUqB9v
https://dl.doubtnut.com/l/_LFy2xxUS7Nxr

44, (15 BET : (-103)+(312)

o Watch Video Solution

45, (151 Sl : (-3596)+(-1089)

o Watch Video Solution

46. T390 SIYTIT Ja SI5T B @ISt BT : (-10)+

(-27)

o Watch Video Solution



https://dl.doubtnut.com/l/_orN1M2BFBDcv
https://dl.doubtnut.com/l/_7zmFoKPEvz7L
https://dl.doubtnut.com/l/_qVCTp2bTylxf

47. fIAdie NeUTiF Ja gt SE @AM BET : 34+

(-19)

o Watch Video Solution

48. fIAJE TeUTIF 3 AT B @ISt BT : (-11)+

(-10)

o Watch Video Solution



https://dl.doubtnut.com/l/_qVCTp2bTylxf
https://dl.doubtnut.com/l/_w4E5IHhfoGbz
https://dl.doubtnut.com/l/_IqXrmiX129te

49. fI9dio MYTF @ g IE @ISt IET -

(+15)+(-20)

o Watch Video Solution

50. fIAJT0 TeUTIF a SISt B (@ISt BT : (-13)+

(+10)

o Watch Video Solution



https://dl.doubtnut.com/l/_ljqiMLeI9fhs
https://dl.doubtnut.com/l/_2ovYnEKhhXVf

51. f3ddio MUTd Ja a@lst dE (@ISt A

(+10)+(-9)

° Watch Video Solution

52. 33T Bl : (7)+(-9)+12+(-16)

° Watch Video Solution

53. AJeT BT : 37+(-23)+(-65)+9+(-12)

° Watch Video Solution



https://dl.doubtnut.com/l/_FgjbqgHjpiCG
https://dl.doubtnut.com/l/_gPaIkSxhfvxw
https://dl.doubtnut.com/l/_IVyAPzyRGDJR

54, 53¢T Bl : (-3)+(-17)+(63)

o Watch Video Solution

55. 33T BT : 56+(-7)+(-3)+(-1)

o Watch Video Solution

56. JATEIA 97 B : (-5)+ =0

o Watch Video Solution



https://dl.doubtnut.com/l/_IVyAPzyRGDJR
https://dl.doubtnut.com/l/_Bj757gJuyFlN
https://dl.doubtnut.com/l/_F9VAqOL55yG0
https://dl.doubtnut.com/l/_chAVk0Uahria

57. XATEIA 94 SEI :(-10)+_ =17

o Watch Video Solution

58, X[ATEIA S BEI :(+6)+ =9

o Watch Video Solution

5. XATEIA S FEI :0+ =7

o Watch Video Solution



https://dl.doubtnut.com/l/_chAVk0Uahria
https://dl.doubtnut.com/l/_KJszRDh1Pa9E
https://dl.doubtnut.com/l/_tBkyoc650W3V
https://dl.doubtnut.com/l/_8s69kyaCJpVk

60. X[A7B1 99 Bl : -20+_ =25

o Watch Video Solution

61. YATEIA 999 BEI: _ +(-10)=0

o Watch Video Solution

62. YATEIA 999 BEI: _ +(+9)=-9

o Watch Video Solution



https://dl.doubtnut.com/l/_8s69kyaCJpVk
https://dl.doubtnut.com/l/_Mw00DAyfPIoq
https://dl.doubtnut.com/l/_2FwD1nfnQjPS
https://dl.doubtnut.com/l/_cJh7Jdd6pNCM

63. YATEIA 97T BEI: _ +(-18)=10

o Watch Video Solution



https://dl.doubtnut.com/l/_cJh7Jdd6pNCM
https://dl.doubtnut.com/l/_YEE6FQ6z0Yuh

